Permutations and Combinations
Make a guess as to how many was Mrs. Gasser, Mr. Strickler, and Mr. D. can sit in three chairs.






My guess is _______ ways






The actual answer is ________ ways

Draw the hangman visual for the 3 people in 3 chairs.


For 3P3 label what each number represents



3P3

What does 4P2 equal?  Show work.

4P2 = 

10P8 = 

6P3 = 

60P6 =

For Permutations does ORDER matter?  Yes / No

Combinations
Make a guess as to how many ways to you choose 2 sodas from a group of 4.






My guess is _______ ways






The actual answer is ________ ways

4C2 = __________ = __________ = _________ = _______ ways

Make a guess as to how many ways you can choose 3 friends from a group of 5.






My guess is _______ ways

The actual answer is ________ ways
5C3 = __________ = __________ = _______ ways

__________ DOES NOT ____________

Try these…

5C2 = 

10C3 = 

2C1 = 

You want to know how many ways 5 people can stand in line.  Is this an example of a permutations or combinations problem?  Justify your answer.

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________
